

OPERATOR MONOTONE FUNCTIONS INDUCED FROM LÖWNER–HEINZ INEQUALITY AND STRICTLY CHAOTIC ORDER

SAICHI IZUMINO AND NOBORU NAKAMURA

(communicated by T. Furuta)

Abstract. Furuta presented direct and simplified proofs of operator monotonicity of functions

$$\varphi(t) = \frac{t-1}{\log t} \quad \text{and} \quad \psi(t) = \frac{t \log t - t + 1}{(\log t)^2}$$

by using Löwner-Heinz inequality. Extending his method, we give a sequence of operator monotone functions $\{f_k(t)\}_{k=0}^{\infty}$ with $f_0(t) = \varphi(t)$ and $f_1(t) = \psi(t)$. We also study relations between $f_k(t)$ and strictly chaotic order defined among positive invertible operators and obtain some extensions of results due to Furuta.

1. Introduction

A (bounded linear) operator A on a Hilbert space H is positive, in symbol $A \geq 0$, if $(Ax, x) \geq 0$ for all $x \in H$. In particular, A is strictly positive, in symbol $A > 0$, if A is positive invertible. The well-known Löwner-Heinz inequality says that if $A \geq B \geq 0$ then $A^\alpha \geq B^\alpha$ for $0 \leq \alpha \leq 1$ ([7] – [12], etc.). This means that the function $t \mapsto t^\alpha$ ($0 \leq \alpha \leq 1$) on $[0, \infty)$ is operator monotone. Another well-known example of operator monotone functions is $t \mapsto \log t$ on $(0, \infty)$ ([7], [9], [11], etc.). Based on this fact, the chaotic order $A \gg B$, which is weaker than the usual order $A \geq B$, is defined by $\log A \geq \log B$ among strictly positive operators. (Similarly, the strictly chaotic order $A \gg B$ is defined by $\log A > \log B$.)

Recently, Furuta [5] and [6], by using Löwner-Heinz inequality, presented direct and simplified proofs of operator monotonicity of the functions

$$\varphi(t) = \frac{t-1}{\log t}, \quad \psi(t) = \frac{t \log t - t + 1}{(\log t)^2}$$

and their dual functions $t/\varphi(t)$ and $t/\psi(t)$. (The values of those functions at $t = 0$ and $t = 1$ are defined by their limits as $t \rightarrow +0$ and $t \rightarrow 1$, respectively.)

As an extension of results on chaotic order due to Fujii et al [2] – [4], Furuta showed in [5] (and [6]) the following fact related to the above functions:

Mathematics subject classification (2000): 47A63.

Key words and phrases: positive operators, chaotic order, Löwner-Heinz inequality, operator monotone functions.

THEOREM F. *Let $A \gg_s B$ for $A, B > 0$. Then there exists $\beta \in (0, 1]$ such that*

$$\varphi(A^\alpha) > \varphi(B^\alpha) \quad (\text{and } \psi(A^\alpha) > \psi(B^\alpha)) \quad \text{for all } \alpha \in (0, \beta). \quad (1.1)$$

Furthermore, asking if the condition $A \gg_s B$ can be replaced by the weaker one $A \gg B$, Furuta, in [5] (and [6]), gave a decisive counterexample of a pair of positive 2×2 matrices such that $A \gg B$ but $\varphi(A^\alpha) \not\geq \varphi(B^\alpha)$ (and $\psi(A^\alpha) \not\geq \psi(B^\alpha)$) for all $\alpha > 0$.

In this paper, we induce from Löwner-Heinz inequality a sequence $\{f_k\}_{k=0}^\infty$ and some related sequences of operator monotone functions with $f_0 = \varphi$ and $f_1 = \psi$. We use a method of successive differentiation, the idea of which we owe to Furuta [5] and [6]. With respect to strictly chaotic order and functions $f_k(t)$ of the sequence, we show an extension of Theorem F, which allows us to replace φ or ψ in (1.1) by any f_k . We further, using the same matrices A and B chosen in [6] or somewhat general ones for a counterexample, show an example of positive matrices A and B such that $A \gg B$ but there is $\beta \in (0, 1]$ with $f_k(A^\alpha) \not\geq f_k(B^\alpha)$ for all integers $k \geq 0$ and all $\alpha \in (0, \beta)$. This gives, for $k = 1$, a weak counterexample for Furuta’s question mentioned before.

2. Sequences of operator monotone functions induced from Löwner-Heinz inequality

In [5] and [6], Furuta presented direct and simplified proofs of operator monotonicity of $\varphi(t)$ and $\psi(t)$ stated before. The essence of his proofs is to make use of the function

$$T_n(x) = \frac{x^n - 1}{x - 1} = x^{n-1} + \cdots + x + 1 \quad (x \neq 1), \quad T_n(1) = \lim_{x \rightarrow 1} T_n(x) = n$$

and its derivative $T'_n(x)$. In fact, if we define

$$U_{n,0}(t) = \frac{1}{n} [T_n(x)]_{x=t^{\frac{1}{n}}}$$

and

$$U_{n,1}(t) = \frac{1}{n^2} [T'_n(x)]_{x=t^{\frac{1}{n}}},$$

then $U_{n,0}(t)$ and $U_{n,1}(t)$ are operator monotone functions by Löwner-Heinz inequality, so that

$$\lim_{n \rightarrow \infty} U_{n,0}(t) = \frac{t - 1}{\log t} = \varphi(t)$$

and

$$\lim_{n \rightarrow \infty} U_{n,1}(t) = \frac{t \log t - t + 1}{(\log t)^2} = \psi(t)$$

are also operator monotone. This consideration suggests constructing a sequence of operator monotone functions as follows.

THEOREM 2.1. Let $T_n^{(0)}(x) = T_n(x)$ and let

$$U_{n,k}(t) = \frac{1}{n^{k+1}} [T_n^{(k)}(x)]_{x=t^{\frac{1}{n}}} \quad \text{for } k = 0, 1, \dots, n-1.$$

Then for all integers $k \geq 0$

$$f_k(t) = \lim_{n \rightarrow \infty} U_{n,k}(t)$$

exist and they are operator monotone. Furthermore

$$f_k(t) = \frac{k!}{(\log \frac{1}{t})^{k+1}} \left\{ 1 - te_k \left(\log \frac{1}{t} \right) \right\}, \tag{2.1}$$

where

$$e_0(s) = 1 \quad \text{and} \quad e_k(s) = 1 + \frac{s}{1!} + \dots + \frac{s^k}{k!} \quad (k \geq 1).$$

Proof. It is not difficult to see that if $n > k \geq 1$ then

$$U_{n,k}(t) = \frac{1}{n^{k+1}} \left(c_{n-1,k} t^{\frac{n-1-k}{n}} + \dots + c_{k+1,k} t^{\frac{1}{n}} + c_{k,k} \right), \tag{2.2}$$

where $c_{m,k} = m(m-1) \dots (m-k+1)$. Hence $U_{n,k}(t)$ (and also its limit $f_k(t)$ if it exists) are operator monotone by Löwner-Heinz inequality. First for $k = 0$ we have, as stated before,

$$f_0(t) = \lim_{n \rightarrow \infty} U_{n,0}(t) = \frac{t-1}{\log t} = \frac{1 - te_0(\log \frac{1}{t})}{\log \frac{1}{t}}.$$

Next for $(n >) k \geq 1$, since $T_n(x)(x-1) = x^n - 1$, we have, by Leibniz' law on k -times differentiation,

$$T_n^{(k)}(x)(x-1) + kT_n^{(k-1)}(x) = n(n-1) \dots (n-k+1)x^{n-k}.$$

Dividing both sides by n^k , we have, by the definition of $U_{n,k}(t)$,

$$U_{n,k}(t) \cdot n(t^{\frac{1}{n}} - 1) + kU_{n,k-1}(t) = \left(1 - \frac{1}{n}\right) \dots \left(1 - \frac{k-1}{n}\right) t^{1-\frac{k}{n}}.$$

Further, taking the limits of both sides as $n \rightarrow \infty$, we have

$$f_k(t) \log t + kf_{k-1}(t) = t \tag{2.3}$$

or

$$f_k(t) = \frac{1}{\log \frac{1}{t}} \{kf_{k-1}(t) - t\}. \tag{2.4}$$

(We note that this recurrence formula (2.3) (or (2.4)) ensures existence of limits $f_k(t)$ successively.) By an elementary computation we can obtain (2.1) from these formulae. \square

We remark that if we define $\tilde{f}_0(t) = \left[\frac{e^x - 1}{x} \right]_{x=\log t} = \frac{t-1}{\log t} (=f_0(t))$ and

$$\tilde{f}_k(t) = \left[\frac{d^k}{dx^k} \left(\frac{e^x - 1}{x} \right) \right]_{x=\log t}$$

for integers $k \geq 1$ then we have the same relation

$$\tilde{f}_k(t) \log t + k\tilde{f}_{k-1}(t) = t$$

as (2.3) (by Leibniz' law). Hence $\tilde{f}_k(t) = f_k(t)$ for all integers $k \geq 0$.

By the general theory on operator means [10] (cf. [9, p.169]), for a given operator monotone function $f(t) > 0$ on $(0, \infty)$, the following three functions

- (i) ${}^t f(t) = tf(\frac{1}{t})$ (transpose),
- (ii) $f^*(t) = 1/f(\frac{1}{t})$ (adjoint) and
- (iii) $f^\perp(t) = t/f(t)$ (dual)

are defined, and they are all again operator monotone. Applying this general fact, we obtain the following result.

COROLLARY 2.2. For each integer $k \geq 0$

$$g_k(t) \left(= \frac{1}{k!} f_k(t) \right) = \frac{t - e_k(\log t)}{(\log t)^{k+1}},$$

$$h_k(t) (= k! f_k^*(t)) = \frac{t(\log t)^{k+1}}{t - e_k(\log t)}$$

and

$$j_k(t) (= k! f_k^\perp(t)) = \frac{t(\log \frac{1}{t})^{k+1}}{1 - te_k(\log \frac{1}{t})}$$

are operator monotone.

We here remark that by the similar argument taken as in Theorem 2.1 we can give (alternative) direct proofs of operator monotonicity of $g_k(t), h_k(t)$ and $j_k(t)$. In fact, if we put $V_{n,k}(t) = tU_{n,k}(\frac{1}{t}), W_{n,k}(t) = 1/U_{n,k}(\frac{1}{t})$ and $Z_{n,k}(t) = t/U_{n,k}(t)$, then we see them operator monotone from (2.2), so that as their limits ($n \rightarrow \infty$) we obtain operator monotone functions ${}^t f_k(t), f_k^*(t)$ and $f_k^\perp(t)$, respectively.

If a function $f_\alpha(t) = f(t, \alpha)$ is an operator monotone function with a continuous parameter $\alpha \in [\alpha_1, \alpha_2]$, then its integral with respect to α is again operator monotone [1]. In particular, if we put $f_\alpha(t) = t^\alpha, \alpha \in [0, 1]$, then by successive integration we have the sequence $\{g_k(t)\}_{k=0}^\infty$ as follows (cf. [9, p. 152]):

THEOREM 2.3. Let $q_0(t) = \int_0^1 t^\alpha d\alpha$ and let

$$q_k(t) = \int_0^1 \alpha^k q_{k-1}(t^\alpha) d\alpha \quad (k = 1, 2, \dots).$$

Then $q_k(t) = g_k(t)$ for all integers $k \geq 0$.

Proof. Clearly $q_0(t) = g_0(t) = \frac{t-1}{\log t}$. Assume that $q_k(t) = g_k(t)$ for a $k \geq 0$.

Then

$$\begin{aligned}
 q_{k+1}(t) &= \int_0^1 \alpha^{k+1} g_k(t^\alpha) d\alpha \\
 &= \int_0^1 \alpha^{k+1} \frac{t^\alpha - e_k(\log t^\alpha)}{(\log t^\alpha)^{k+1}} d\alpha \\
 &= \frac{1}{(\log t)^{k+1}} \int_0^1 \{t^\alpha - e_k(\alpha \log t)\} d\alpha \\
 &= \frac{1}{(\log t)^{k+2}} \{t - e_{k+1}(\log t)\} = g_{k+1}(t).
 \end{aligned}$$

This completes the proof by induction. \square

3. An extension of Theorem F

In the study of chaotic order Fujii et al [2] (and [3], [4]) pointed out that $A \gg B$ is equivalent to $A^\alpha > B^\alpha$ for an $\alpha > 0$. As stated before, Furuta [5] (and [6]) also presented Theorem F related to operator monotone functions and strictly chaotic order; if $A \gg B$ then there exists $\beta \in (0, 1]$ such that $\varphi(A^\alpha) > \varphi(B^\alpha)$ (and $\psi(A^\alpha) > \psi(B^\alpha)$) for all $\alpha \in (0, \beta)$. We try to extend those results, giving the similar fact for all $f_k(t)$.

LEMMA 3.1. *Let A and B be selfadjoint operators and let $A > B$. Then there exists $\beta \in (0, 1]$ such that*

$$F_k(\alpha A) > F_k(\alpha B)$$

for all integers $k \geq 0$ and all $\alpha \in (0, \beta)$, where

$$F_k(t) = f_k(e^t) = \frac{k!}{(-t)^{k+1}} \{1 - e^t \cdot e_k(-t)\}.$$

Proof. We can obtain the expansion

$$F_k(t) = \frac{1}{k+1} + \frac{t}{(k+2) \cdot 1!} + \frac{t^2}{(k+3) \cdot 2!} + \dots \tag{3.1}$$

for any integer $k \geq 0$ directly by Taylor's theorem, or by the induction method, using the relation (2.4) replaced t by e^t , i.e.,

$$F_k(t) = \frac{1}{t} \{e^t - kF_{k-1}(t)\} \quad (k = 1, 2, \dots).$$

Since $A > B$, we may assume that $A - B \geq \varepsilon$ for some $\varepsilon > 0$. Hence for $0 < \alpha \leq 1$

$$\begin{aligned}
 F_k(\alpha A) - F_k(\alpha B) &= \frac{\alpha}{(k+2) \cdot 1!} (A - B) + \frac{\alpha^2}{(k+3) \cdot 2!} (A^2 - B^2) + \dots \\
 &\geq \frac{\alpha}{k+2} \left\{ \varepsilon - \left(\frac{\|A\|^2 + \|B\|^2}{2!} + \frac{\|A\|^3 + \|B\|^3}{3!} + \dots \right) \alpha \right\} \\
 &\geq \frac{\alpha}{k+2} \{ \varepsilon - (e^{\|A\|} + e^{\|B\|}) \alpha \}.
 \end{aligned}$$

Putting $\beta = \min\left\{1, \frac{\varepsilon}{e^{\|A\|} + e^{\|B\|}}\right\}$, we have $F_k(\alpha A) - F_k(\alpha B) > 0$ for $\alpha \in (0, \beta)$. \square

THEOREM 3.2. *Let A and B be strictly positive operators with $1 \notin \sigma(A), \sigma(B)$ and let $A \underset{s}{\gg} B$. Then there exists $\beta \in (0, 1]$ such that*

$$f_k(A^\alpha) > f_k(B^\alpha) \tag{3.2}$$

for all integers $k \geq 0$ and all $\alpha \in (0, \beta)$.

Proof. We have only to replace A by $\log A$ and B by $\log B$, respectively in Lemma 3.1. \square

4. Counterexamples

We want to show that in Theorem 3.2 the condition $A \underset{s}{\gg} B$ cannot be relaxed to $A \gg B$ in order to guarantee (3.2). We begin with the following example of 2×2 matrices with respect to Lemma 3.1.

EXAMPLE 1. Let

$$A = \begin{pmatrix} 2 & 2 \\ 2 & -1 \end{pmatrix} \quad \text{and} \quad B = \begin{pmatrix} 1 & 0 \\ 0 & -5 \end{pmatrix}.$$

These are the same matrices adopted in [6] for a counterexample (showing that $A \geq B$, but $\psi(e^{\alpha A}) = F_1(\alpha A) \not\geq F_1(\alpha B) = \psi(e^{\alpha B})$ for all $\alpha > 0$.) We can then really show that for any integer $k \geq 0$ there exists some $\beta_k \in (0, 1]$ such that

$$F_k(\alpha A) \not\geq F_k(\alpha B) \quad \text{for all } \alpha \in (0, \beta_k). \tag{4.1}$$

Here, however, let us consider somewhat general matrices instead: Let again

$$A = \begin{pmatrix} a & b \\ b & c \end{pmatrix} \quad \text{and} \quad B = \begin{pmatrix} d & 0 \\ 0 & e \end{pmatrix}, \tag{4.2}$$

where all letters a, b, c, d and e are nonzero real numbers, and satisfy the conditions

$$a - d > 0, \quad c - e > 0, \quad d \neq e \quad \text{and} \quad (a - d)(c - e) = b^2. \tag{4.3}$$

Then it is easy to see $A \geq B$. Furthermore, (4.1), in the general setting above, is still true for each integer $k \geq 0$, which we shall show after Example 2.

EXAMPLE 2. Let

$$\log A = \begin{pmatrix} a & b \\ b & c \end{pmatrix} \quad \text{and} \quad \log B = \begin{pmatrix} d & 0 \\ 0 & e \end{pmatrix},$$

where a, b, c, d and e satisfy (4.3). Then from the fact stated above, $\log A = A_1 \geq B_1 = \log B$, i.e., $A \gg B$ but there exists some $\beta_k \in (0, 1]$ for each integer $k \geq 0$ such that

$$f_k(A^\alpha) = F_k(\alpha A) \not\geq F_k(\alpha B) = f_k(B^\alpha)$$

for all $\alpha \in (0, \beta_k)$. Hence we have a counterexample with respect to Theorem 3.2.

Proof of (4.1) for A and B in the general setting (4.2). We may show that

$$D_k(\alpha) := F_k(\alpha A) - F_k(\alpha B) \not\geq 0 \quad \text{or} \quad \det D_k(\alpha) < 0 \quad (4.4)$$

for all sufficiently small $\alpha > 0$. By (3.1) we have

$$\begin{aligned} D_k(\alpha) &= \frac{\alpha}{(k+2) \cdot 1!} (A - B) + \frac{\alpha^2}{(k+3) \cdot 2!} (A^2 - B^2) + \frac{\alpha^3}{(k+4) \cdot 3!} (A^3 - B^3) + \dots \\ &= \frac{\alpha}{2(k+2)(k+3)} \left[\{2(k+3)(A - B) + \alpha(k+2)(A^2 - B^2)\} \right. \\ &\quad \left. + \frac{\alpha^2(k+2)(k+3)}{3(k+4)} \{A^3 - B^3 + C(\alpha)\} \right], \end{aligned}$$

where $C(\alpha)$ is the remainder such that $\lim_{\alpha \rightarrow +0} C(\alpha) = 0$. For convenience sake, write

$$L_k(\alpha) = 2(k+3)(A - B) + \alpha(k+2)(A^2 - B^2) \quad (4.5)$$

and

$$M_k(\alpha) = A^3 - B^3 + C(\alpha). \quad (4.6)$$

Then, since $L_k(\alpha)$ is invertible as shown afterwards (in (i)), we see that

$$\begin{aligned} D_k(\alpha) &= \frac{\alpha}{2(k+2)(k+3)} \left\{ L_k(\alpha) + \frac{\alpha^2(k+2)(k+3)}{3(k+4)} M_k(\alpha) \right\} \\ &= \frac{\alpha}{2(k+2)(k+3)} L_k(\alpha) N_k(\alpha), \end{aligned}$$

where

$$N_k(\alpha) = 1 + \frac{\alpha^2(k+2)(k+3)}{3(k+4)} L_k(\alpha)^{-1} M_k(\alpha). \quad (4.7)$$

Hence we see that

$$\det D_k(\alpha) = \left\{ \frac{\alpha}{2(k+2)(k+3)} \right\}^2 \det L_k(\alpha) \det N_k(\alpha),$$

so that it suffices to show the following (i) and (ii) (in order to see (4.4)):

(i) $\det L_k(\alpha) < 0$ (hence $L_k(\alpha)$ is invertible), or precisely

$$\det L_k(\alpha) = -\alpha^2(k+2)^2 b^2 (d - e)^2 < 0. \quad (4.8)$$

(ii) $\det N_k(\alpha) > 0$ for all sufficiently small $\alpha > 0$, or the fact

$$\det N_k(0) =: \lim_{\alpha \rightarrow +0} \det N_k(\alpha) = \frac{k^2 + 6k + 6}{3(k+2)(k+4)} > 0. \quad (4.9)$$

First for (i), put $L_k(\alpha) = \begin{pmatrix} l_{11} & l_{12} \\ l_{21} & l_{22} \end{pmatrix}$. Then from (4.5), we have

$$\begin{aligned} l_{11}(\alpha) &= 2(k+3)(a-d) + \alpha(k+2)(a^2 + b^2 - d^2), \\ l_{12}(\alpha) &= l_{21}(\alpha) = \{2(k+3) + \alpha(k+2)(a+c)\}b, \\ l_{22}(\alpha) &= 2(k+3)(c-e) + \alpha(k+2)(b^2 + c^2 - e^2). \end{aligned} \quad (4.10)$$

Using the identity $b^2 = (a-d)(c-e)$, we have

$$a^2 + b^2 - d^2 = (a^2 - d^2) + b^2 = (a-d)(a+d+c-e),$$

and similarly

$$b^2 + c^2 - e^2 = (c-e)(a-d+c+e),$$

so that we can rewrite $l_{11}(\alpha)$ and $l_{22}(\alpha)$ as follows;

$$l_{11}(\alpha) = \{2(k+3) + \alpha(k+2)(a+d+c-e)\}(a-d), \quad (4.11)$$

$$l_{22}(\alpha) = \{2(k+3) + \alpha(k+2)(a-d+c+e)\}(c-e). \quad (4.12)$$

Further, then from (4.10), (4.11), (4.12) and the identity $b \times \frac{b}{a-d} = c-e$, we have

$$\begin{aligned} l_{21}(\alpha)' &:= l_{21}(\alpha) - l_{11}(\alpha) \times \frac{b}{a-d} = -\alpha(k+2)b(d-e), \\ l_{22}(\alpha)' &:= l_{22}(\alpha) - l_{12}(\alpha) \times \frac{b}{a-d} = -\alpha(k+2)(c-e)(d-e). \end{aligned}$$

Hence we see that

$$\begin{aligned} \det L_k(\alpha) &= \det \begin{pmatrix} l_{11}(\alpha) & l_{12}(\alpha) \\ l_{21}(\alpha) & l_{22}(\alpha) \end{pmatrix} = \det \begin{pmatrix} l_{11}(\alpha) & l_{12}(\alpha) \\ l_{21}(\alpha)' & l_{22}(\alpha)' \end{pmatrix} \\ &= -\alpha^2(k+2)^2 b^2 (d-e)^2. \quad (\text{Use } (a-d)(c-e) = b^2 \text{ again.}) \end{aligned}$$

This is the desired result. Next for (ii), we begin with computation of the product $L_k(\alpha)^{-1}M_k(\alpha)$. For $L_k(\alpha)^{-1}$, we note that

$$L_k(\alpha)^{-1} = \frac{1}{\det L_k(\alpha)} \begin{pmatrix} l_{22}(\alpha) & -l_{12}(\alpha) \\ -l_{21}(\alpha) & l_{11}(\alpha) \end{pmatrix}, \quad (4.13)$$

and for $M_k(\alpha)$, putting $M_k(\alpha) = \begin{pmatrix} m_{11} & m_{12} \\ m_{21} & m_{22} \end{pmatrix}$, we have, from (4.6), that

$$\begin{aligned} m_{11}(\alpha) &= a^3 + 2ab^2 + b^2c - d^3 + f_{11}(\alpha), \\ m_{12}(\alpha) &= m_{21}(\alpha) = b(a^2 + ac + b^2 + c^2) + f_{12}(\alpha) \quad (f_{12} = f_{21}), \\ m_{22}(\alpha) &= ab^2 + 2b^2c + c^3 - e^3 + f_{22}(\alpha), \end{aligned}$$

where $f_{ij}(\alpha)$ ($i, j = 1, 2$) are components of $C(\alpha)$ with $\lim_{\alpha \rightarrow +0} f_{ij}(\alpha) = 0$. Hence we have, from (4.8) and (4.13),

$$\alpha^2 L_k(\alpha)^{-1} M_k(\alpha) = -\frac{1}{(k+2)^2 b^2 (d-e)^2} \begin{pmatrix} l_{22}(\alpha) & -l_{12}(\alpha) \\ -l_{21}(\alpha) & l_{11}(\alpha) \end{pmatrix} \begin{pmatrix} m_{11}(\alpha) & m_{12}(\alpha) \\ m_{21}(\alpha) & m_{22}(\alpha) \end{pmatrix}.$$

Now taking the limit as $\alpha \rightarrow +0$, we have

$$\lim_{\alpha \rightarrow 0} \alpha^2 L_k(\alpha)^{-1} M_k(\alpha) = -\frac{2(k+3)}{(k+2)^2 b^2 (d-e)^2} \\ \times \begin{pmatrix} c-e & -b \\ -b & a-d \end{pmatrix} \begin{pmatrix} a^3 + 2ab^2 + b^2c - d^3 & b(a^2 + ac + b^2 + c^2) \\ b(a^2 + ac + b^2 + c^2) & ab^2 + 2b^2c + c^3 - e^3 \end{pmatrix}.$$

Put $\begin{pmatrix} p_{11} & p_{12} \\ p_{21} & p_{22} \end{pmatrix}$ the product of the two matrices right above. Then for p_{11} , using the identity $b^2 = (a-d)(c-e)$ (or $(a-d)(c-e) = b^2$) repeatedly, we have

$$\begin{aligned} p_{11} &= (c-e)(a^3 + 2ab^2 + b^2c - d^3) - b^2(a^2 + ac + b^2 + c^2) \\ &= (c-e)\{(a^3 - d^3) + (2a+c)b^2\} - (a-d)(c-e)(a^2 + ac + b^2 + c^2) \\ &= (c-e)(a-d)\{a^2 + ad + d^2 + (2a+c)(c-e) - (a^2 + ac + b^2 + c^2)\} \\ &= (c-e)(a-d)\{d^2 + (a+c-e)d - (a+c)e\} \\ &= b^2(d-e)(d+a+c). \end{aligned}$$

Similarly we have

$$\begin{aligned} p_{12} &= b(c-e)(d-e)(e+a+c), \\ p_{21} &= -b(a-d)(d-e)(d+a+c), \\ p_{22} &= -b^2(d-e)(e+a+c). \end{aligned}$$

Hence for $N_k(0)$, we have (from (4.7))

$$\begin{aligned} N_k(0) &:= \lim_{\alpha \rightarrow +0} N_k(\alpha) = \lim_{\alpha \rightarrow +0} \left\{ I + \frac{(k+2)(k+3)}{3(k+4)} \alpha^2 L_k(\alpha)^{-1} M_k(\alpha) \right\} \\ &= I + \frac{(k+2)(k+3)}{3(k+4)} \times \left\{ -\frac{2(k+3)}{(k+2)^2 b^2 (d-e)^2} \right\} \begin{pmatrix} p_{11} & p_{12} \\ p_{21} & p_{22} \end{pmatrix} \\ &= I - \frac{2(k+3)^2}{3(k+2)(k+4)b(d-e)} \begin{pmatrix} b(d+a+c) & (c-e)(e+a+c) \\ -(a-d)(d+a+c) & -b(e+a+c) \end{pmatrix}. \end{aligned}$$

Now if we rewrite $N_k(0)$ as

$$N_k(0) = \frac{1}{3(k+2)(k+4)b(d-e)} \begin{pmatrix} n_{11} & n_{12} \\ n_{21} & n_{22} \end{pmatrix}, \quad (4.14)$$

then we see that

$$\begin{aligned} n_{11} &= \{3(k+2)(k+4)(d-e) - 2(k+3)^2(d+a+c)\}b, \\ n_{12} &= -2(k+3)^2(c-e)(e+a+c), \\ n_{21} &= 2(k+3)^2(a-d)(d+a+c), \\ n_{22} &= \{3(k+2)(k+4)(d-e) + 2(k+3)^2(e+a+c)\}b. \end{aligned}$$

Further, we have, using $b^2 = (a-d)(c-e)$ (or $b \times \frac{b}{a-d} = c-e$) again,

$$\begin{aligned} n'_{11} &:= n_{11} + n_{21} \times \frac{b}{a-d} = 3(k+2)(k+4)b(d-e), \\ n'_{12} &:= n_{12} + n_{22} \times \frac{b}{a-d} = 3(k+2)(k+4)(d-e)(c-e). \end{aligned}$$

Hence

$$\begin{aligned} \det \begin{pmatrix} n_{11} & n_{12} \\ n_{21} & n_{22} \end{pmatrix} &= \det \begin{pmatrix} n'_{11} & n'_{12} \\ n_{21} & n_{22} \end{pmatrix} \\ &= 3(k+2)(k+4)b^2(d-e)^2(k^2+6k+6). \end{aligned} \quad (4.15)$$

Consequently, we have, from (4.14) and (4.15),

$$\det N_k(0) = \left\{ \frac{1}{3(k+2)(k+4)b(d-e)} \right\}^2 \det \begin{pmatrix} n_{11} & n_{12} \\ n_{21} & n_{22} \end{pmatrix} = \frac{k^2+6k+6}{3(k+2)(k+4)}.$$

This is the desired (4.9).

Acknowledgment. The authors would like to express their thanks to the referees for the helpful guidance.

REFERENCES

- [1] N. N. CHAN and M. K. KWONG, *Hermitian matrix inequalities and a conjecture*, Amer. Monthly **92** (1985), 533–541.
- [2] M. FUJII, J. F. JIANG and E. KAMEI, *Characterization of chaotic order and its application to Furuta inequality*, Proc. Amer. Math. Soc. **125** (1997), 3655–3658.
- [3] M. FUJII, J. F. JIANG and E. KAMEI, *Characterization of chaotic order and its application to Furuta's type operator inequalities*, Linear Multilinear Alg. **43** (1998), 339–349.
- [4] M. FUJII, J. F. JIANG, E. KAMEI and K. TANAHASHI, *A characterization of chaotic order and a problem*, J. of Inequal. and Appl. **2** (1998), 149–156.
- [5] T. FURUTA, *Logarithmic order and dual logarithmic order*, Operator Theory: Advances and Applications, Vol. **127**, 279–290, Birkhäuser Verlag, Basel, 2001.
- [6] T. FURUTA, *An operator monotone function $\frac{t \log t - t + 1}{\log^2 t}$ and strictly chaotic order*, Linear Alg. and Its Appl. **341** (2002), 101–109.
- [7] T. FURUTA, *Invitation to Linear Operators: From Matrices to Bounded Linear Operators on a Hilbert Space*, Taylor and Francis, London and New York, 2001.
- [8] E. HEINZ, *Beiträge zur Störungstheorie der Spektralzerlegung*, Math. Ann. **123** (1951), 415–438.
- [9] F. HIAI and K. YANAGI, *Hilbert Space and Linear Operators*, Makinoshoten, 1995 (in Japanese).
- [10] F. KUBO and T. ANDO, *Means of positive linear operators*, Math. Ann. **246** (1980), 205–224.
- [11] M. K. KWONG, *Some results on matrix monotone functions*, Linear Alg. and Its Appl. **118** (1989), 129–153.
- [12] K. LÖWNER, *Über monotone Matrixfunktionen*, Math. Z. **38** (1934), 177–216.

(Received December 10, 2002)

Saichi Izumino
Faculty of Education, Toyama University
Gofuku, Toyama 930-8555, Japan
e-mail: s-izumino@h5.dion.ne.jp

Noboru Nakamura
Fujikoshi-kogyo Senior Highschool,
Higashi-ishigane 7-5, Toyama, 930-0964, Japan
e-mail: n-nakamu@tym.fitweb.or.jp